Study Sheet

Chapter 5

Name ___________________________________

Know your vocabulary words:
1. What were the three main ideas of Mendel’s work?

a.


b.

c.

2. Name two genetic disorders that are caused by a recessive allele on the X chromosome. 

3. Name two genetic disorders that are homozygous recessive.

Complete the Punnett Square to show the possible offspring of two heterozygous pea plants.  Then answer the questions that follow.  Round R is dominant to wrinkled r.








R                r

	
	

	
	


                                             R

                                              r

4. What was the phenotype for seed shape of both parents?

5. What percentage of the possible types of offspring had the same genotype as the parents?

6. How many of the offspring were homozygous?

7. How many of the offspring in the Punnett Square share the parent’s phenotype?

8. How many of the offspring were homozygous recessive?

Each pedigree below shows the inheritance pattern of a sex –linked disorder, such as color blindness or hemophilia.  Answer the question below each pedigree.

             [image: image1.png]


                                            [image: image2.png]mO





9. Is the father, A, affected or not affected by the disorder?  Explain your answer.

10. Is the mother, B, affected by the disorder, not affected, or a carrier?  Explain your answer.

11. Long radishes were crossed with round radishes and produced all oval radishes.  When two of the oval radishes were crossed, there were all three types of radishes – long, round, and oval present.

a. What evidence is there that the round and long alleles are both inherited by incomplete dominance?

b. What evidence is there that both the long and the round radishes are homozygous?

c. Do a Punnett square for the crossing of oval radishes.  Let, R, represent the round gene and let, R’, represent the long gene.

12. Where are genes located?

13. What are genes made of?

Study the genetics problems below and make a Punnett square to determine the offspring’s genotype.  Then answer the questions.

14. Cleft chin(C) is dominant to no cleft (c).  Show the cross between a homozygous cleft chinned man with a woman without a cleft chin.

a. What is the phenotype of the offspring?

15. Dimples (D) are dominant to no dimples (d).  Show the cross between two heterozygous parents.

a. What is the phenotypic ratio of the offspring 

One sex linked, recessive trait occurring on the X chromosome is color blindness (Xc).  Study the pedigree below that shows the occurrence of color blindness in three generations of a family.  Use the following to help answer questions 16-21.
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16. Is the first generation female a carrier of the gene?

17. Can any of the first generation’s boys be colorblind?

18. Can any of the first generation’s girls be colorblind?

19. What is the possibility that person 6 could pass on the colorblind trait?

20. What is the possibility that person 7 could pass on the colorblind trait?

21. Person number 5 is colorblind.  However, none of his children have this condition.  What accounts for this?

22. Explain two advantages and two disadvantages of genetic research.

